
IE210−7X, 1

IE210−1XDoPo−>UaUo

538550563

λ /nm

uλ

logarithmic Ua, Uo-data
log Ua = ( logDo+ logPo)/2
log Uo = logUa + 0,023
log [ Uo, Ua, Do, Po ]

uλ = (λ − 550) / 50
logDo = −0,35[uλ−u538]

2

logPo = −0,35[uλ−u563]
2

Adaptation: λUT=550
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  0

Threshold
Sa=0.02

IE210−2XGoJo−>DaDo

500 538 575

λ /nm

uλ

logarithmic Da, Do-data
log Da = ( logGo+ logJo)/2
log Do = logDa + 0,196
log [ Do, Da, Go, Jo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logJo = −0,35[uλ−u575]
2

Adaptation: λUT=538

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−2

−1

  0

Threshold
Sa=0.02

IE210−3XGoRo−>JaJo

500 575 650

λ /nm

uλ

logarithmic Ja, Jo-data
log Ja = ( logGo+ logRo)/2
log Jo = logJa + 0,78
log [ Jo, Ja, Go, Ro ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logRo = −0,35[uλ−u650]
2

Adaptation: λUT=575

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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−1

  0

Threshold
Sa=0.02

IE210−4XGoUo−>MaMo

500525550

λ /nm

uλ

logarithmic Wa, Wo-data
log Wa = ( logGo+ logUo)/2
log Wo = logWa + 0,087
log [ Wo, Wa, Go, Uo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logUo = −0,35[uλ−u550]
2

Adaptation: λUT=525

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−2

−1

  0

Threshold
Sa=0.02

IE210−5XToGo−>BaBo

450475500

λ /nm

uλ

logarithmic Ba, Bo-data
log Ba = ( logGo+ logTo)/2
log Bo = logBa + 0,087
log [ Bo, Ba, Go, To ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logTo = −0,35[uλ−u450]
2

Adaptation: λUT=475

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−2

−1

  0

Threshold
Sa=0.02

IE210−6XToMo−>CaCo

450488 525

λ /nm

uλ

logarithmic Ca, Co-data
log Ca = ( logTo+ logWo)/2
log Co = logCa + 0,087
log [ Co, Ca, To, Wo ]

uλ = (λ − 550) / 50
logTo = −0,35[uλ−u450]

2

logWo = −0,35[uλ−u525]
2

Adaptation: λUT=488

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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−1

  0

Threshold
Sa=0.02

IE210−7XToUo−>GaGo

450 500 550

λ /nm

uλ

logarithmic Ga, Go-data
log Ga = ( logTo+ logUo)/2
log Go = logGa + 0,35
log [ Go, Ga, To, Uo ]

uλ = (λ − 550) / 50
logTo = −0,35[uλ−u450]

2

logUo = −0,35[uλ−u550]
2

Adaptation: λUT=500

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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  0

Threshold
Sa=0.02

IE210−8XBoJo−>MaMo

475 525 575

λ /nm

uλ

logarithmic Wa, Wo-data
log Wa = ( logBo+ logJo)/2
log Wo = logWa + 0,35
log [ Wo, Wa, Bo, Jo ]

uλ = (λ − 550) / 50
logBo = −0,35[uλ−u475]

2

logJo = −0,35[uλ−u575]
2

Adaptation: λUT=525

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−2
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  0

Threshold
Sa=0.02

IE211−1XBoGo−>Ca, G*, B*

475488500

λ /nm

uλ

logarithmic Ca, Co-data
log Ca = ( logBo+ logGo)/2

logG*=clog(Go/Ca)+0,5
logB*=clog(Bo/ Ca)+0,5

log Co = logCa + 0,021
log [ Co, Ca, Bo, Go ]

uλ = (λ − 550) / 50
logBo = −0,35[uλ−u475]

2

logGo = −0,35[uλ−u500]
2

Adaptation: λUT=488

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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Threshold
Sa=0.02

c=1

IE211−2XBoGo−>Ca, G*, B*

475488500

λ /nm

uλ

logarithmic Ca, Co-data
log Ca = ( logBo+ logGo)/2

logG*=clog(Go/Ca)+0,5
logB*=clog(Bo/ Ca)+0,5

log Co = logCa + 0,021
log [ Co, Ca, Bo, Go ]

uλ = (λ − 550) / 50
logBo = −0,35[uλ−u475]

2

logGo = −0,35[uλ−u500]
2

Adaptation: λUT=488

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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0
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Threshold
Sa=0.02

c=1

IE211−3XGoJo−>Da, J*, G*

500 538 575

λ /nm

uλ

logarithmic Da, Do-data
log Da = ( logGo+ logJo)/2

logJ*=clog(Jo/Da)+0,5
logG*=clog(Go/ Da)+0,5

log Do = logDa + 0,196
log [ Do, Da, Go, Jo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logJo = −0,35[uλ−u575]
2

Adaptation: λUT=538

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−1

0

+1

Threshold
Sa=0.02

c=1

IE211−4XGoJo−>Da, J*, G*

500 538 575c=-1/logJo[500]

λ /nm

uλ

logarithmic Da, Do-data
log Da = ( logGo+ logJo)/2

logJ*=clog(Jo/Da)+0,5
logG*=clog(Go/ Da)+0,5

log Do = logDa + 0,196
log [ Do, Da, Go, Jo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logJo = −0,35[uλ−u575]
2

Adaptation: λUT=538

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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0
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Threshold
Sa=0.02

c=1.26

IE211−5XJoR’o_O’a, R*, J*

575594613

λ /nm

uλ

logarithmic O’a, O’o-data
log O’a = ( logJo+ logRo)/2

logR*=clog(Ro/O’a)+0,5

logJ*=clog(Jo/O’a)+0,5

log O’o = logO’a + 0,03
log [ O’o, O’a, Jo, Ro ]

uλ = (λ − 550) / 50
logJo = −0,35[uλ−u575]

2

logRo = −0,35[uλ−u613]
2

Adaptation: λUT=594

    −3,0 −1,0   1,0   3,0   0.0
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0
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Threshold
Sa=0.02

c=1

IE211−6XJoR’o_O’a, R*, J*

575594613

λ /nm

uλ

logarithmic O’a, O’o-data
log O’a = ( logJo+ logRo)/2

logR*=clog(Ro/O’a)+0,5

logJ*=clog(Jo/O’a)+0,5

log O’o = logO’a + 0,03
log [ O’o, O’a, Jo, Ro ]

uλ = (λ − 550) / 50
logJo = −0,35[uλ−u575]

2

logRo = −0,35[uλ−u613]
2

Adaptation: λUT=594

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−1

0

+1

Threshold
Sa=0.02

c=1

IE211−7XBoGo−>Ca, G*, B*

475488500  c=-1/logGo[475]

λ /nm

uλ

logarithmic Ca, Co-data
log Ca = ( logBo+ logGo)/2

logG*=clog(Go/Ca)+0,5
logB*=clog(Bo/ Ca)+0,5

log Co = logCa + 0,021
log [ Co, Ca, Bo, Go ]

uλ = (λ − 550) / 50
logBo = −0,35[uλ−u475]

2

logGo = −0,35[uλ−u500]
2

Adaptation: λUT=488

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−1

0

+1

Threshold
Sa=0.02

c=11.42

IE211−8XJoR’o_O’a, R*, J*

575594613    c=-1/logRo[575]

λ /nm

uλ

logarithmic O’a, O’o-data
log O’a = ( logJo+ logRo)/2

logR*=clog(Ro/O’a)+0,5

logJ*=clog(Jo/O’a)+0,5

log O’o = logO’a + 0,03
log [ O’o, O’a, Jo, Ro ]

uλ = (λ − 550) / 50
logJo = −0,35[uλ−u575]

2

logRo = −0,35[uλ−u613]
2

Adaptation: λUT=594

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
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Threshold
Sa=0.02

c=4.94


